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f^T/INSTRUCTIONS 

1. W$ ^ 3 TFT t sffc ^FTf TFTf ^ P̂TT tf?^r WcT f | 
This question paper contains two parts and you have to answer all questions in both the 
parts. 

2. TFT "3T" TTffrRT 3 ^?Ff ̂ 5 t f^RFf 30 Q^T f I TO T̂0 1 ^ 10 cR> 3> eft 3R> yttT ITSR, 
11 ^ 20 TOT c£ ̂ FT 3R> yfcT TO ^ 21 30 ^ ST̂ ff ^ W 3R> yfcT TOT f I 
Part "A" Mathematics has three sections containing 30 questions. Q. Nos 1 to 10 carry 2 
marks each, Q. Nos 11 to 20 carry 3 marks each and Q. Nos 21 to 30 carry 5 marks each. 

3. TFT "W" TFTT ^STT T' ^cT TO 11 1TO 1 ^ 2 ^ 15-15 3R> t ^ TO 5 3fk 
8 3> 5-5 f | T̂cffT F̂?T TO! C£ 10-10 11 TFT ^ vJĉ R 3TFT f^TT Tl T^TT ^ ^ 
W T' f\W Wcl" f I 
Part "B" Language Ability Test contains 10 questions. Q. Nos 1 and 2 carry 15 marks each 
and Q. Nos 5 and 8 carry 5 marks each. The remaining questions carry 10 marks each. In 
this part you can write your answers in any one of the chosen language only. 

4. arrq aPTT ^3oR TTcTr/WeTT W^T ^ fcRsf I ffifef ^ T fcKt I 
Write your answer in Blue/Black ink only. Do not use pencil. 

5. W 3>P4 T^t v5FTF ^ ^ I 
AH Rough Work is to be done at space provided. 

6. ^ T" cgcT 27 1̂ 3 11 
There are total 27 pages in the question paper. 
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*rPT 'ST Tfrre/PART 'A' MATHEMATICS r 

^rfe/Mak: Marks : 100 

- I/SECTION -I 
(JiciJ* TO" 3fc?> ĉ T f) 

(Each question carries two marks) 

Q.1. 879 sffc 338 c& 3 F T R cf>T Pl4>dclH if CZRVT ^ I 
Estimate the difference of 879 and 338 to the nearest hundred. 

Q.2. 15m 1000 km Rbd-n yRwd % I 
Write 15 m as a percentage of 1000 km. 

Q.3. 120,210 3ffa 225 <75T ofDWTO HTcf cRt | 

Find LCM of 120,210 and 225. 

Q.4. I , — , - , gfk - ^ ^ T R t i t ^ T T ' f e R t l 
3 1 0 6 5 

l 3 5 2 . Arrange - , — i n ascending order. 
3 1 0 6 5 

» 
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Q.5. 1 - aita 2 — * « i r | l 5 10 

Find the sum of I - and 2 — . 

5 10 

Q.6. ^ ^ r r ^ VJÎ M ^ T' 1020 t%o*fto ĈRTT 1 1 4 - * F £ 3 w r s r f^d4) 
6 

An aeroplane covers 1020 Kms in an hour. How much distance will it cover 

in 4 - hours. 
6 " 

Convert 131 f into Celsius scale. 

« 7 



Q.8. 2222 w € t cf̂ t f^r sffc w € t T I 

Convert 2222 hours into days and hours. 

One of the two equal angles of an Isosceles triangle measures 55°. Find the 
measure of all the angles of triangle. 

2 2 
Q.10. ^ frf cffr irf^r 79.2 #tro 1 1 C[TT fcmi w ^for f? ^ -

Find the radius of a circle whose circumference is 79.2 cm. Given that 
2 2 

n =— 
7 

8 



g g j ll/SECTION -II 
y^T f̂fa 3fcfJ ĉ T t ) 

(Each question carries three marks) 

Q.11. 75 ?T9TT 225 3> W I eft ^Pf W I T feR# I 
Find the square numbers lying between 75 and 225. 

Q.12. t V l F̂RcT cff* 125 - 25 X 125 4- 25 + 25 
Simplify : 125 - 25 X 125 * 25 + 25 

Q.13. 3 Tt̂ rcf 3 30 ^ 23 3T3> TT̂TT fMt 3 50 ?T 29 3RJ TTM | ^ T T ^ f% i%*T 
t ^ l $ 3fr? fcTxTT PlrRTcf ^ v3TrT of^JT t%*TT? 
Sudha scored 23 marks out of 30 in maths and 29 marks out of 50 in Hindi. 
In which subject did she perform better and by what percentage? 
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Q.14. 902, 1394 3ffc 3321 Wf WffO ^0 W ^ f l 

Find the HCF of 902, 1394 and 3321. 

Q.15. ^tcTJ T Rldl^ *T#T ^tcTT ^ fcT? 4000 ^0 12% clinch sZTM eft ^ 3 ^TR foTq i 3 
eTtf eTRT ^ T%tTT WT^ eikl-} ?Ft I 

Jubaida took a loan of Rs. 4000/- on 12% annual interest. After 3 years how 
much money she will have to return? 

Q.16. cPt̂ cT 5TKT eftftikj:-
Find the square root of 

9 
(a) 6 — 

3 6 

(b) 5 11 
1 6 
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Q.17. TJcj> ^Tsft cf5T W^U ^ f^T T 12 ctTO F̂ttTT 1 1 2 cT̂  ^ ^ fcTxPTT c£T *ft cTTT I 

A baby elephant drinks around 12 litre of milk every day. How much milk 
will it drink in two years? 

Q.18. ufFT 3PFT THti ^ ^ IR 10 TPTTO T̂ TTcTToft ^ifepR ^T?oT cFTRT WcTT 1 1 vft 
xRTT$ * R eft 2.2 fto cT x f r ^ 1.8 *TT0 t tft eft F3KTTT ^T^cT ^freT^t FPfl I 

John plans to tile his kitchen floor with square tiles. Each side of the tile is 
10 cm. His kitchen is 2.2 M long and 1.8 M wide. How many tiles will John 
need? 

Q.19. TJcT5 f%eft 3 24 cT^3TEt t eft 8 t%oft fcfxTT STP^" I oT^aff eft cTcRf 
3 fĉ et f%cFT sTeR? rrrf^ ^ TT̂  TOT *t" 16 3Tftt f | 

There are 24 Laddoos in 1Kg. How many Laddoos will be there in 8 Kg? If 
16 Laddoos can be packed in 1 box, how many boxes are needed to pack 
all the laddoos? 

» 
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Q.20. SSTcT <RT ^T WTT3TT' cf5T 3 tW W cftR^ I 
Find the mean of first ten even numbers. 

-HI/SECTION -111 
fJIrifarJRFT #c7 3fcT5 ?m %) 

(Each question carries five marks) 

Q.21. it&l eft c||f̂ ch 3 T R "̂ 0 6,00,000 11 cT£ enf ^ *ffapf tr? ^fj 99,250 W^t *R )̂0 36,750 
3TR cTTFjf TR ^0 1,11,500 ^ TTRtTI # i cT? cTtf *R T focFTT cfRcTT f ? eJxTcT 
YTR ^TTcft 3TRT cT5T fcTxRT ufcNd t I 

Annual Income of Rohan is Rs 6,00,000. He spends Rs. 99,250 on food, Rs. 
36,750 on clothes and Rs. 1,11,500 on other expenditures annually. What is 
his annual saving? What % of his income does he save in a year? 

-K---f-

1 2 
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Q.22. (a) PlHfeiRsJd cftuff cfTl' TFT fTRT cftftieJ ! 
Find the value of following angles :-

(i) ZBOC (ii) Z COD 

(b) 20 3TR 70 cJfT T 0 W T 0 3FTFHJ T J ^ F W ^ eft f̂ f̂ T £~RT sTTcT cftfufi? | 
Find HCF of 20 and 70 by prime factorization method. 

Q.23. ?RoT cTRt, 

Simplify: 

0.2[3.5-0.3{2.5 +1.3(3.6 +1.4)}] 



Q.24. t ^ F T anc f f f c r a t w c T cr MRHN W i 

Find out perimeter and area of the given diagram. 

15 cm < • 
2 4 c m 

1 2 c m 

1 5 c m 

Q.25 W 15 eP% 3?TC 10 ^T0 f̂t# STPFf 3 0.50 cpf *TT0 cf> t%cFT TOR fattl*) v3TT 
1 1 "qfe T̂ F5 TOR cFTRT ^ ^0 2.50 t eft ^ 3TFTT 3 TOR f ^ P T 3 RbcHI 
3TRFTTI 

How many stones of 0.50 M 2 can be fixed in a court yard of length 15 M and 
width 10 M. if cost of fixing one stone is Rs. 2.50, what will be the 
expenditure on fixing stones in the courtyard? 

1 4 



Q.26. trrg ~$ fT^T 3 15% eT5FFT, 25% ^R?TT cTOT ?TRT 1 1 W§ $ 60 t%Trro 
TT3T T' Errg eft TTcTT eftiuFJ | 
An alloy contains 15% Carbon, 25% Zinc and rest is Copper. In 60 Kg alloy, 
find the quantity of each metal. 

Q.27. foFfT WTT eft Tjfef I 

Fill in the blanks:-

6 ? E L ' 1 (<p) — = - • (^) .01 = -
21 7 ? 

6 ? A. 1 

(a) — = - (b) . 0 1 = -
21 7 ? 

(T) 7 3 f c f t e f t ^ F R T W T T f ( n ) f ^ T T = c Z T R T / ? 

. . . . . . Diameter 
(c) Largest 7digit number is - (d) Radius = 

(^) 75897 3 8 M W=fpa TFT 11 

(e) In 758S7, place value of 8 is 

15 



Q.28. W f>T=T cT5T ^ ^TP£ ^ 3 vjqTcTJ f | ^ 3 F T ^ 3 ^ f ^ ^ ^ R ^ 3 ^ t 
v j j t s fct̂  vjfp̂  ef t n ^ f T TJtR 1 / 5 ITtTT t I ciî if̂ cb T^R ^Tfcr cTR' I 

The denominator of a fraction is greater than its numerator by 3 . If 3 is 
subtracted from the numerator and 2 is added to its denominator, the new 
number become 1 / 5 . Find the original number. 

Q.29. ^ cT?8TT T 4 0 OT5f f I 6 0 % 3?2FT £ ° f t f 3 0 % f & a f f a ^ f t "c jc f fa S R T * f 
^otH I 3J2FT , f g ^ f W c( TjcfR-f ^ ^ fr^Tf^ftt" ^ 3 T e P T S T e P T Wm e f t 
W T 3 T T I 

Out of 40 students of a class, 60% passed in first division, 3 0 % i n second 
division and remaining in third division. Find out the number of students in 
each category? 

16 



Q.30 (cf?) TTcfj ^chHciK ^ ^0 900 cfJT eTcRTT 15% Tg3 *R ĉTT | cf5T Bqrq i^ 

(a) A shopkeeper sells a box costing Rs. 900 giving 15% discount. Find 
out the sale price of the box? 

(*sT) Wrr3ff cJTT WTO TO sfre oTTOO TO CFTT: 18 3TR 252 t ^ ^ WIT 126 t 
eft ^TRT R̂sCfT §TRT cfRT I 

(b) The HCF and LCM of two number is 18 and 252 respectively. If one 
number is 126 find out another number? 

1 7 / 



TPT V gWg ^ W T / P A R T ' B ' : L A N G U A G E A B I L I T Y 

^Tfo /Max Marks :100 

Q.1. PlHfelR^d fcWf *T ^ F M T ^ W 15 cncfZT teTt%5-. (15) 
Write 15 sentences on anyone of the following topfcs: 

*TNH: ̂ Rff/My Friend 
3T9TcTT / O R 

^ ^ftcR w eTc??T/ Aim of my life 

» 18 



Q.2. PlHfclRsJcl eft &m$R t$| gfa atef % f^q Tpr jg^j} ^ fcRt I 

( 5 x 3 = 15) 

ĉTteTCT % cmtfo ^T*f eft eKeFT eft ?lt%T f I ^ ^ ^ ?rRf5cf f I: 
tcT W IVJTR T̂Tef TTg^ *TT TTT# 4 ^T?fT 9TT, 3TM * j f f >3# # ĉTcTT t I " H W t r g & i t *TR ^fcTI 
2TT, 3TM *fr TR T̂cTT t t U l P w T 3 ^ eft eft^ qRcjcf̂  f3TT, ^r£f 3 MRCJJH cfc for? WxTiteH 

3TR fct̂ ctT 3" T̂cT7 fefT[ 3iiq|vji | t ^ n ^ fT^eT eR fcT̂ T ER TO MRCICFI ^ fcf^ t 
|i W 3fXFfr ŴTeTT eft ?ft efeTef i ^ f I TEuRT e# ^TFR xPT-^T eft iff iTc^f f j 

c j i w f ^ c ^ 6|4cHI4 eP*T # T T uT? ej? iffcR ^ 4<v\*\\ ÊRft eR? ^ ^TT t% 

(^) ^ 3fk t o * rfcf c p f f ^ r € f c j r? ? 

( T ) i f f e R T «TTOTcT CJJT W 3Taf f ? 

(E l ) " ^ T C T T ' eT5T feTefpT ^ faRsli) ? 

(5) TTTĴ T RR| ?R TO epft I ? 

1 9 



Read the following passage carefully and answer the questions that follow: 

Florence Nightingale was born on the 15 t h May, 1820 at Florence in Italy and her 
parents called her after the name of the city where she was born. Her main 
ambition was to be a nurse and so she gave up all thoughts of marriage and 
personal happiness. She spent years visiting hospital after hospital. Day and 
night she visited every bed in the hospital to see that no patient was neglected 
and that all were as comfortable as possible. However hard she might have 
worked all day, every night she would take her lamp and move from bed to bed. 
The Lady with the Lamp' the soldiers called her and that is the name by which 
the world has remembered her ever since. 

(a) Where was Florence Nightingale born ? 

(b) Why her parents named her Florence Nightingale ? 

(c) Why Florence Nightingale was called The Lady with the Lamp' ? 

(d) Give opposite of 'comfortable' ? 

(e) What did she do every night with a lamp in her hand ? 

20 



Q.3 PlHfeiferf fefffel ¥I^t 3 T c P T ^ ^ crTcfcT iFfT^? I (5X2=10) 

W ----- = - - -

m — 

21 



M a k e a s e n t e n c e o n y o u r o w n f o r e a c h u n d e r l i n e d w o r d g i v e n i n t h e f o l l o w i n g 
p a s s a g e . ( D o n o t c o p y a n y s e n t e n c e f r o m t h e g i v e n p a r a g r a p h ) 

P e o p l e w h o l i v e i n r e g i o n s c o v e r e d w i t h f o r e s t s a n d s u r r o u n d e d b y h i l l s 
g e n e r a l l y b e l i e v e t h a t t h e d e s e r t i s a v a s t s t r e t c h o f d r y , h o t a n d s a n d y l a n d . B u t t h o s e 
w h o h a v e s t u d i e d i t , f i n d t h e d e s e r t q u i t e b e a u t i f u l . It i s n o t e n t i r e l y u n i n h a b i t e d e i t h e r . 
A v a r i e t y o f p e o p l e , a n i m a l s a n d p l a n t s m a k e t h e d e s e r t t h e i r h o m e . 

( a ) 

( b ) 

( c ) 

(d) 

( e ) 

» 22 



Q.4 ( 5 x 2 = 10) 

(q) ^Pff/^TKTT % / i ^ / ^ ^ / f ^ ^ / ^ ^ - Z { ^ / i \ / w f i Tf/ufRT I 

Form meaningful sentences by rearranging the words in proper order :-

(a) a good / exercise/swimming/is 

(b) Middle East /mdia/to/the/exporting/is/onions 

(c) was/John/drinking /tea 

(d) m a n l a strong /Sardar Patel/was 

23 



(f) named / Diamond/had/Newton/little dog/a 

Q.5 3Ffcf> W^t <& tcH? TJcf> ^ ter f^ : - ( 5 x 1 = 5 ) 

RH^cft v^fTJ crTt̂  ^ R T ^ I t 

(^) crTT̂ T cfr 

(̂ T) ^Tef 3 ^ ^ c[TefT 

fa) vjft SFprT^r ?rti $ ^HEf ^ 

(^) qfcTRl ^fo^f ^ 

Give one word for the following:-

(a) One who knows everything 

(b) A building in which monks live 

(c) A person whose profession is to keep accounts 

(d) All the customs and beliefs of a society 

(e) Eater of flesh 

Q.6 "cncft w^ff eft -strRT it ^ <JRV- ( 5 X 2 = 10) 

(cp) TPft *Rpft ^ M t I (^fl^/^iT^TFf) 

(a) ufef *f ffc Yft 11 (wfcRl f /Wef t ) 

cfF 3FTt tcft Rsiefl^ cTFTT S I (35T/"£) 

(q) ^C5K> eTTc5 "cT^-cJ^cT 2Tcf> TT| | (3T%/3TM) 

(5.) W T *R tor <fr I (^T^/^rrqR) 

« ^ . . . . 



Choose the correct article (a, an or the) and fill in the blanks 

(a) Here is book I borrowed from you yesterday. 

(b) Jordan drives Mazda. 

He goes to Delhi Golf Course on Sundays. 

(d) James works as electrician. 

( e ) Raman sang song. 

Q .7 f ^ T f e l f % ? r cfc clTc73 < H l c M 3{at 3 ZFxK T T O c j R T : - (5X2 = 10) 
Use the given word in separate sentences of your own to show the 
difference in the meaning of the words of the pair given below:-

(a) Principal, Principle /3TfacT, 

(b) Cattle, Kettle/ 

(c) whether, weather / ^ fRH, TRTFf 

(d) idle, idol/apq, 3T̂ T 

( e ) Floor, F lour / ?HT, ?TFT 

2 5 



Q . 8 f o R t cTTcRft e f t % 3F£HK e f R f c R 3 T I ( 5 X 2 = 1 0 ) 

( c p ) y S T T 3 T R T T f | ( R ^ i f t e j ^ j c j , M 3 ) 

( d ) ^ 4 ^TcTR | ^ | ( P l ^ i e ^ c b 3 ) 

(*T) ftfll*fM ^ # R > F T c b l 4 * H 3 *HPT feRTT I ^xFf 3 ) 

Change each of the following as directed:-

I met an old man. (Change into Future Continuous) 

The driver stopped the train. (Change into Passive Voice) 

The Sky grew dark. ( Change into negative sentence) 

Mr Verma teaches us grammar. ( Cnange into Interrogative sentence) 

Peter said, "Imran will not be playing the match." (Change into indirect 
sentence) 

2C 



Q.9 fcT& vtf <# tefa fcT&- ( 5 x 1 = 5 M a r k s ) 

( cu ) a r ^ e r 
( ^ 0 

p T ) 
(q) t̂im 
0 ? ) c£7J 

Give the Antonym (opposite) of the following words: 

( a ) Arrest 
(b) Boon 
(c) Heaven 
(d) Grateful 
(e) Bravery 

Q . 10 H E f F f r a r f ^ ^ f ^ c f R S T F T e f t W e f e f t e T W ^ W ^ T * R f ^ T c T T u T F t e f t j r q r j 

e f t ^ i t | (10) 
Write a letter to the Principal requesting him to organize an educational 
tour to Shimla. 

27 


